Vau 0% Skl Prachte e

A B
N e e T
D/\ @] lgf:‘Qg Ll
(1= QB=21D
KAD = x—(9 AC= X453
’l>< 4
=X Chc=14)
IAE = Ec IXEB=5XAST  AC= BX+BHEXAT
(q=IX Cxw—1(2
I=x0 §(9)12
o 12-12 £60)
IPE=AE (Y- Uy Do =72(DE) —
X =\ =2.(65-1)
5 (X=% 2(4) (32
L@m IXFLEPREL =90 e BAC=3(7) |
1N - 9x+5=90 E52°
ml:‘:,} i ( ,D
I Ak | XA FIFHZ0 Wi pDC=10) ¢
9, C X —( =90 42+
(LK =0 GC4%)
A B (x=6)
7 (27| x=21= EX+S nypD =72 -31
/+S) k IX=20 G 5%)
% oo (X=D
x“(‘*’ﬁ X7 FXA1S /‘]O ( }(ﬂ) m{BACE C"(’) >
— ] 5= NED

< =1



0. mLDH= -—3———1\ MaG= 106° o 6&;\

S = s —
G
l“iéLL 0. Dmes= 530 -

o g

5
AmiU= 3P o 37° 2“ — --”?.:
= |1 M[? ‘9"3 3 3r|‘%%7 iy 5

|G,

/

N

\ NO't W‘rbd\ WMM, beCama
&MM?W ,5.4_,5& :::

Pl logvam Imj— Wm no

?m[) rc b= N a,ﬁolf,, &f““’"“‘

af/{wd(sﬁ Lol lw i R




